‘2

RE

SHEE #MEFRATOVURES R
R BE

(SFN44E3IAI1BHRTE)
FHE EX Heig

(Bfr:H)
=

FH £ BlH/ZH
HIfEE RS 6,395,542 6,395,542 0 = B 3,551,000 2,726,897 A 824,103
HESE 4,400,000 4,409,000 9,000 {7 X 4000 B 1,500,000 1,293,181 A 206,819|FHRE-RFUF—R- LA
IEEHBRLS 4,400,000 4,409,000 9,000 iRIERHE 8,000 7,627 A 73| ERREH
X i+ & 2,070,000 2,120,000 50,000 Fr—TH 100,000 102,665 2,665 |EIRIEF y—8
FERMNE 850,000 850,000 0|fEHNEE T ) —2 % 270,000 270,048 48[ —HE, ENRIHD) —R %
SLEATA)IE RS 0 0 0 HAERE 200,000 206,996 6,996
EREERGE 1,220,000 1,270,000 50,000 |BEEmE - mEsLE - AEBRRE TN EmE 600,000 236,108 A 363,892 |FE =GRS AY—V
B Bk & 30,000 0 A 30,000 KEXBE 50,000 81,095 31,095[(FILA 45, FILATERR
RIS & 30,000 0 A 30,000 PRI 80,000 74,280 A 5,720| = EEREEN
# I A 293,000 120425 | A 172,575 BEEREE 5,000 0 A 5000/ XM R ESEELT
ENRIHEE - o F — 45 & 5,000 6,425 1,425 TEHREE 40,000 0 A 40,000({ATS<YERZHA~
Z—TFI AR E 20,000 11,100 A 8,900 A& 100,000 121,100 21,100|56% , HBIFEX
BH=smis 0 0 0 BiEs 100,000 0 A 100,000|BT <Y ERT H~
Hhimas 10,000 0 A 10,000 Rl 7,000 2,000 A 5,000
EEIE 10,000 0 A 10,000 Bl 100,000 90,000 A 10000\ FBRE-BEHLBE - LHRITE
WES 40,000 10,000 A 30,000 HHEE 10,000 0 A 10,000
XAE& 10,000 0 A 10,000 T FE 1,000 880 A 120
HitE 10,000 0 A 10,000 HETH9E 10,000 10,000 ME=SS
SLETHESELGELR NS 8,000 8,000 0 FE= 10,000 13,325 3,325
SEHh7zB e 40,000 5,700 A 34,300|2[E]BA%E LAE £ BE= 0 0 0
2 fE 65,000 63,100 A 1,900 M= 10,000 330 A 9,670
BEOYUS £ 5,000 11,400 6,400/ R—ILTHHYHAX & 120,000 0 A 120,000/ T E=FHER
BEATE 50,000 0 A 50000/ EET BIEE 230,000 215,262 A 14,738|Fvb-F—LR—D-BHEE
HIRA 20,000 4,700 A 15,300 SEH 0 2,000 2,000|FrICHASHE AR
HE AR 100 69 A 31 = fE 1,500,000 1,123,749] A 376,251 [ EFEa—X
EEFIR 100 69 A 31 HT3{UER 1,300,000 1,320,511 20,511
SEEPRAEE 6,793,100 6,649,494 | A 143,606 REDSWY 300,000 229,603 A 70397 RO EE prEnEEs \EERSE
IRA & &t 13,188,642 | 13,045,036 A 143,606 RsplYES 520,000 665,802 145802 |[REEE- RFYEH
ALY ES 130,000 17,445 A 112555| DD H P> [EE A7 —)L-AJM
e OYUmEsRERINX BrECUiEE) 350,000 407,661 57,661 | TS REEE BT EHER
DSIBEENE | 0smsrutnA | @maEE st SFBEEHE(D+O-B) I ¥ & 260,000 147,410 A 112,590
TEEE (A= 6,395,542 6,649,494 6,245,795 6,799,241 LEEILE 40,000 34,990 A 5010[ffh—Lr—
(Bl =81 5,681,394 500,049 388,300 5,793,143 HEEAE 100,000 0 /A 100,000|ET <Y ERZ HE~
(FHHEL) 2,026,142 218,016 281,748 1,962,410 S 120,000 112,420 A 7,580[% 5Y CENR
&5 14,103,078 7,367,559 6,915,843 14,554,794 FREERG AR 400,000 272,942 A 127,058
REBTEXNEE 50,000 0 A 50,000
IETHERABEENEEX=ERE i IRIEEEE 200,000 270,402 70,402 |BIEEEE . KTEBNER
LTS EhRA NS | 683,968 639,182 | 655,747 | 667,403 KEXEE 150,000 2,540 A 147,460[FT <Y HA~
X ETEREE 1,450,000 654,286] A 795,714
AFeE 686,000 WES 650,000 653,086 3,986
HEEEREES 1,034,900 ERIIES 600,000 300 A 599,700
EREE 682,500 iy 100,000 0 A 100,000
g[S 100,000 0 A 100,000
EBRDEER., BERERE, (MBS LEEIZNEBEIh TWAILZEOET, T E = 4,727,642 0| A 4,727,642
X H&E& 13,188,642 6,245,795 A 6,942,847

af L& X A2 | B

#REF £ HT5<

i

EE

B 58 F A

T

[ -
g

=
C‘fﬂ;;‘




